Monday, October 26,2020~ 2:01PM

Problem Session tomorrow (Tuesday) at 5:30pm. Zoom location will be posted on ICON. AN N 0Y1¢y,
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Exam 2: Any 90 minute period between 1:30 - m and 5:00 - 6:30pm m
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a Written Part: 2-3 questions. Please write on only 1 side. After you upload it, ask me to check it
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@ Multiple Answer part: Select all correct answers. If the question is worth X points and there are N
correct amen you earn X/N points for each correct answer and you loose X/N points for each
incorrect answer (but you won't earn less than 0 on a problem.
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\ Thm 2.4.2: Suppose the functions
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2= f(t,y) and z = F(t.y) (e 1
are continuous on (a,b) x (c,d) v y g
and the point (¢g,yo) € (a,b) X (¢, d), \V\O NV ﬁd ¢ M

t
then d an interval () — h,to+ h) C (a,b) such that ' Q‘Ak (/\ > A,w
3! function y = ¢(t) defined on (to — h,to + h) that W'} MO) 9(
satisfies the following initial value problem. [(yo l{(r’ J4 £
n S5 (%
y = f(t,y). y(to) = yo. | &

Theorem 4.1.1: Ifé&(u b) > R,i=1,...,n and

g @ R are continuous dIl(l a < fu < b, then there
exists a unique function y = ¢(t), ¢ : (a,b) — R that
satisfies the initial value problem

New Section 1 Page 1



n] t (n—1)
- \I_)i )y + oo + P
y(to) = Yo,
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Y (to) = 1,

Question 4

0.5 pts

If 2 — dac < 0 then the mluh(‘if‘
ay”" + by + cy =04(0
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Question 5 dj’(‘x 76/”"( 0.5 pts

If B2 — 4ac < 0 then the solution to the initial value praoblem
ay” + by + ey =0, u(0) = —1,4/(0) = —3 Jsdeal valued

iHalvalue problem
= —3 isomplex valued.
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